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"MATH 108 Quiz #4 Spring 2017 Name /42» Y

Directions: Answer each question as completely as possible. Show all work for credit. Good

luck.

1. Write the equation of a function g(x) that i is obtained by taking f (x) =

\/__ and performing
the following transformations, in this order: v

- a horizontal shift to the left by 2 units —> N&E2

- a vertical compression by a factor of 3Lm
- a vertical shift downward by 5 _Er_nts g 3
- areflection over the y-axis

g = T8 ~

2. Suppose h(x) = — ﬁ—g +1

Draw a rough sketch of the graph of h, performing transformations of | fx) = -1— one at a time
until h is obtained. Show a separate graph for each transformation, as done in class
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3. Supposef(x)—x —~5x + 3x3 + 13x2 —-8x——12

a) What is the degree of f? d/:% .@ é

b) What is the leading coefficient of f? M&ﬁ@ (‘Q@-&cﬁ(tﬁffi jp

c) Use arrows to descri l% e the end behavxor of the graph of f.

fro qopr folle o the L@?ﬁ CM{ vies 0 «fyf«é, ir@li

d) Find the y-intercept of the graph of f.
{fior = 22
e) Write a complete factorization of f. Use th1s to determine any x-intercepts of the graph of f

Q: %%ﬁ‘w+3(w4g«x%>

gﬁ‘f%@ygwﬁ% %_%%h.%%Qz

f) Use the above information to draw a rough sketch of the graphAof f. Your graph should have
the correct intercepts and end behavior, and should have correct behavior at each x-intercept.
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Then , thy x=> . lhen =3, Ym0 = X= i a voot.
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